SCARCITY


CHOICE


ECONOMIC COST
SUBSTITUTION

INDIFFERENCE - set of alternatives that you will let

    another choose between for you.

Measurement of willingness to substitute

MARGINAL VALUE  -   The maximum amount of one 






    
good that will be given up to 




    

get another unit of a second 




    

good.
POSTULATE 3   SATIATION

THE MORE YOU HAVE OF A GOOD, THE LESS OF ANOTHER YOU WILL GIVE UP TO GET AN ADDITIONAL UNIT OF THE FIRST

DIMINISHING MARGINAL VALUE

IMPLICATION - IF PEOPLE HAVE DIFFERENT 

MARGINAL VALUES, TRADE IS EFFICIENT

ECONOMIC EFFICIENCY - AN ACTION OR 

CHANGE IS ECONOMICALLY EFFICIENT IF SOMEONE IS BETTER OFF AND NO ONE IS WORSE OFF

ASSUME JODY AND CHRIS EACH BEGIN WITH 

COMBINATION  B  WITH 2 UNITS OF MEAT AND 1O UNITS OF FRUIT.

JODY’S WILLINGNESS TO SUBSTITUTE, HIS MARGINAL VALUE OF THE SECOND UNIT OF MEAT

WILL GIVE UP THE SECOND UNIT IF HE IS GIVEN 3 OR MORE UNITS OF FRUIT.

CHRIS’S WILLINGNESS TO SUBSTITUTE

WILL GIVE UP AS MUCH AS 5 UNITS OF FRUIT TO GET ANOTHER UNIT OF MEAT.

EFFICIENT TRADE CAN OCCUR AT A TRADING RATE BETWEEN THEIR MARGINAL VALUES

FOR EXAMPLE - TRADE 4 UNITS OF FRUIT FOR 1 UNIT OF MEAT

RESULTS

JODY TRADES FOR FRUIT AND ENDS UP WITH 

1 MEAT 14 FRUIT - IS BETTER OFF BY ONE UNIT OF FRUIT.

CHRIS TRADES FOR MEAT AND ENDS UP WITH 3 MEAT 6 FRUIT - BETTER OFF BY ONE UNIT OF FRUIT.

WITH DIFFERENT MARGINAL VALUES - SOCIETY CAN EXPLOIT GAINS FROM TRADE 

CALLED TRADING SURPLUS

TRADING CAN ITSELF BE COSTLY LIMITING THE OPPORTUNITY TO EXPLOIT THE TRADING SURPLUS

COSTS OF TRADING INCLUDE

1.  FINDING A PERSON WITH A DIFFERENT MARGINAL VALUE.

2.  DETERMINING THE VALUE OF ANOTHER’S GOODS.

3.  NEGOTIATING THE TRADING RATE.

PROPOSITION - REDUCING THE COSTS OF TRADING 

IS EFFICIENT.

- INDIVIDUALS ATTEMPTING TO MAKE THEMSELVES BETTER OFF IN THE FACE OF SCARCITY WILL SEEK WAYS TO REDUCE THE COSTS OF TRADING.

INSTITUTIONS REDUCING THE COSTS OF TRADING

1.  GOVERNMENT DEFINING AND ENFORCING THE RIGHTS TO GOODS.

2.  MIDDLEMEN ENGAGING IN ONGOING TRADING OF THE SPECIALTY GOODS.

3.  USE OF A COMMON INTERMEDIARY IN TRADES.

TYPICAL EXCHANGE SITUATION -

INDIVIDUAL TRADES WITHIN A SYSTEM OF LAWS THAT PROTECTS RIGHTS.

INDIVIDUAL PURCHASES AT A “STORE” (MIDDLEMAN).

INDIVIDUAL PAYS FOR GOODS WITH MONEY.

GOODS CONSISTS OF MANY POSSIBLE RIGHTS TO USE, ABUSE, TRANSFORM, TRADE, ....

THE RIGHTS YOU “OWN” ARE THE USES YOUR DECISIONS CONTROL.

GOVERNMENT - THE DOMINANT FORCE - DEFINES, ASSIGNS, AND ENFORCES THE RIGHTS TO GOODS.

MIDDLEMEN ENGAGE IN REPEATED TRADES IN THEIR SPECIALTY GOODS.  THIS LOWERS THE COST OF TRADING:

1.  ALLOWS LOW COSTS IDENTIFICATION OF A TRADING PARTNER.

2.  VALUE OF FUTURE BUSINESS TO MIDDLEMEN HELPS MOTIVATE HONESTY.

3.  MIDDLEMEN DEVELOP EXPERTISE IN VALUING THEIR SPECIALTY GOODS.

DESIRED CHARACTERISTICS OF A COMMON INTERMEDIARY GOOD

1.  EASILY RECOGNIZED

2.  EASILY DIVIDED

3.  DURABLE

4.  EASILY TRANSPORTED

5.  STABLE IN VALUE

6.  CHEAP TO PRODUCE

GOLD

CURRENCY

JODY’S INDIFFERENCE SCHEDULE

“OTHER GOODS”
&     POP

  $

     POP

MARGINAL VALUE

110


0






100


1


10

91.25

2


8.75

83.50

3


7.75

76.75

4


6.75

71.25

5


5.50


67


6


4.25

64


7


3

62


8


2

61


9


1

PRICE = $6

SCHEDULE 2 - AFTER JODY HAS DECIDED TO BUY 4

86


4

79.50

5


6.50

74


6


5.50

SCHEDULE 3 - AFTER JODY HAS DECIDED TO BUY 5

80


5

74.25

6


5.75

JODY’S DEMAND SCHEDULE

PRICE OF POP

QUANTITY DEMANDED
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3





8


2
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1
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FUNDAMENTAL PRINCIPLE OF ECONOMICS

LOWER THE COST OF AN ACTION - MORE LIKELY THE ACTION WILL BE TAKEN





LAW OF DEMAND 

LOWER THE PRICE - INCREASE THE QUANTITY DEMANDED
THE DEMAND SCHEDULE AND THE DEMAND CURVE CONTAIN INFORMATION ON

1.  DESIRED AMOUNT AT EACH PRICE

2.  EXPENDITURE AT EACH PRICE

3.  TOTAL CONSUMER VALUE AT EACH PRICE

4.  CONSUMER SURPLUS AT EACH PRICE

PRICE 

QUANTITY      TOTAL    TOTAL     TOTAL

OF POP      DEMANDED    PAID       VALUE     SURPLUS
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      $10

     $10

     $0 
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6
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